
Weekly Timesheet Sun Mon Tue Wed Thu Fri Sat Totals

Step 1 Job A 8 8 8 8 8 40

Job A Hours Worked = 40 Job A Rate per Hour= 18.00$  Job A Base Pay = 720.00$   Job B 3 3

Job B Hours Worked = 3 Job B Rate per Hour = 15.00$  Job B Base Pay = 45.00$     Total 11 8 8 8 8 0 43

Total Straight Time Pay = 765.00$   Overtime 0 3 0 0 0 0 0 3

Step 2

Total Straight Time Pay = 765.00$  / Total Hours = 43 Overtime Premium per Hour= 17.79$     

Overtime Premier per Hour = 17.79$    1/2 OT Premium 50% 1/2 OT Premium Pay Rate= 8.90$       

Total Overtime Hours = 3 OT Premium per Hr = 8.90$    Total Premium OT Payment = 26.69$     

Step 3

Straight Time Total Pay = 765.00$  + Premium OT = 26.69$  Total Weekly Comp = 791.69$   

Weekly Timesheet Sun Mon Tue Wed Thu Fri Sat Totals

Step 1 Job A 8 6 2 4 8 28

Job A Hours Worked = 28 Job A Rate per Hour= 18.00$  Job A Base Pay = 504.00$   Job B 3 4 3 10

Job B Hours Worked = 10 Job B Rate per Hour = 15.00$  Job B Base Pay = 150.00$   Total 11 6 6 4 8 3 38

Total Straight Time Pay = 654.00$   Overtime 0 3 0 0 0 0 0 3

Step 2

Total Straight Time Pay = 654.00$  / Total Hours = 38 Overtime Premium per Hour= 17.21$     

Overtime Premier per Hour = 17.21$    1/2 OT Premium 50% 1/2 OT Premium Pay Rate= 8.61$       

Total Overtime Hours = 3 OT Premium per Hr = 8.61$    Total Premium OT Payment = 25.82$     

Step 3

Straight Time Total Pay = 654.00$  + Premium OT = 25.82$  Total Weekly Comp = 679.82$   

Weekly Timesheet Sun Mon Tue Wed Thu Fri Sat Totals

Step 1 Job A 0

Job A Hours Worked = 0 Job A Rate per Hour= Job A Base Pay = -$         Job B 0

Job B Hours Worked = 0 Job B Rate per Hour = Job B Base Pay = -$         Total 0 0 0 0 0 0 0

Total Straight Time Pay = -$         Overtime 0 0 0 0 0 0 0 0

Step 2

Total Straight Time Pay = -$        / Total Hours = 0 Overtime Premium per Hour= #DIV/0!

Overtime Premier per Hour = #DIV/0! 1/2 OT Premium 50% 1/2 OT Premium Pay Rate= #DIV/0!

Total Overtime Hours = 0 OT Premium per Hr = #DIV/0! Total Premium OT Payment = #DIV/0!

Step 3

Straight Time Total Pay = -$        + Premium OT = #DIV/0! Total Weekly Comp = #DIV/0! v171205

When an employee works two or more jobs and the employee is paid different hourly rates, the overtime must be based on the employee’s "regular rate of pay." Typically, the employee’s regular rate of pay when they work two jobs is calculated as the weighted 

average of the different rates. For Example:

Base Pay at 2 Different Pay Rates - California
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An employee has two jobs at the same company with different pay rates.  The employee works fulltime in Job A and  

occasionally part-time doing Job B. 

An employee has two jobs at the same company with different pay rates.  The employee works part of the time working 

in a part-time role of Job A and  occasionally part-time doing Job B. Sometimes within the same day.


